EARAROBEEIERT — 2 N— IBISH —F

2012898140 (&) 8EEH1H

&“%@Eﬁ‘ﬁﬁﬁﬂ#i‘zu BO #5%—#% \ (%f&] 8 \ (sl — | 4 (h) 13000 &
[AE£] 1% :110,000"  23%&:28,000 "  33%&:14,000”  43%&:9,000H ~ 53 :6,000H
B\ BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
4 4 | BEIIBGA 1:24.3 1-1-1-1 [ 39.0| — 2 432 | BREZ (FH)
1155 Fa1—b7A 54.0 (—) +3) () k=247
RNSGLAATHE—L B:70U—T4 [EEN e ]
S o4 | HEER 1:25.1 2-2-2-2 [39.6| — 1 537 | E®F (&H)
2189 | ZL>*h 56.0 (4) (2) |#) KSDKFU=L
R:T5yok—0 B:I ENK—T BESHD X VS
= LHIFE : -3-3- - E#EEE (B
3 P ESIE T it 5 48 1.(225>.5 3-3-3-2 | 39.9 3 <4+525) E]/%%_
R:vrzadr BFLITNERA nwE SIS
P “ BIRFE I :25. ~3-3- . - HhEZ (35
4|8 g|F17ANY B R Fao | P P8 |mexa
LT v TRy b BiEATYTIVX HET77—L
o FEFRITE] -26. 76 . — Hsr (FH)
5 2 N T =Ty b 4t 10 56% 1(266)8 7-7-6-6 | 40.5 6 ;1350) %?%%
R:HrSO—LIL B RIaNLT— N> TS
: # o6 | BIE 1:27.3 4-5-5-5 |41.3| — 4 438 | TSR (&)
611 |[NTNFRU—L 56.0 21/2) 1) |BEER
Z:afAvgyF B:XIT7A R *33 3405
. ZlliE— : —6-6- — AT (FH)
7 6l PERR LY v — 4 8 526.0 (11217/26> 6-6-6-7 | 41.4 8 (5&6) ﬂz‘zm
:¥x>770-U7Z2 B:7571)— )1 &%
N ERERN ] : -8-8- — HEFN (BH)
gl7l7 J)N—FK—2 4 8 56?) 1.(228).0 8-8-8-8 | 40.8 7 (4;8) EH%—:%
R:pYZREITO—) B:5147Ux09 x11435
NN FEILRaE - - - - - — | AREB) (FH)
*% 3l EY hFN= o 5.0 (BUH) (=) QE‘}&‘}E?-
L:Urh—>r Bieb/IAK AR R
® 1 — @B
|S=7r= 5,9,4,1,8,6,2,7
230—7+— |5,9,(4,8),1,6,2,7
T =35r= 5,9,(4,8),1,(2,6),7
41—F— 5,(4,9),8,1,2,6,7
[ RN
B 5 360M 794K 5-9 150 B & 5-9 190 &R 4-5-9 230M
# B ) 100 4-5 230 B H 5-9 680 EE 5-9-4 1,400
9 1004 4-9 150H
4 100M

ABICOVWTRDTEEERROODE. TR LIV,




